

$$= \left(\frac{\cos^2 t + \sin^2 t}{\cos^2 t} \right)^{3/2} \cdot \frac{1}{t \cos^3 t}$$

$$\left(\frac{1}{(\cos t)^2} \right)^{3/2} \cdot \frac{1}{t \cos^3 t}$$

$$\left(\frac{1}{(\cos t)^2} \right)^{3/2} = \frac{1}{t (\cos t)^3}$$

$$\frac{1}{(\cos t)^{2+3/2}} \cdot \frac{1}{t (\cos t)^3} = \frac{1}{(\cos t)^3} \cdot \frac{1}{t (\cos t)^3} = t$$

$R = t$.

Recall θ is also $= t$; $R = t$.

(h, k)

$$h = x - R \sin \theta$$

$$k = y + R \cos \theta$$

$$x = \cos t + t \sin t$$

$$y = \sin t - t \cos t$$

$$h = \cos t + t \sin t - (t \sin t)$$

$$k = \sin t - t \cos t + t \cos t$$

$$h = \cos t + t \sin t - t \sin t = \cos t$$

$$k = \sin t - t \cos t + t \cos t = \sin t$$

$$(h, k) = (\cos t, \sin t)$$